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PHILOSOPHY — HONOURS

Fourth Paper
Full Marks - 100

Candidates are required to give their answers in their own words as far as practicable
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Question No. 1 is compulsory. Answer five more questions
taking at least one from each unit.

1. Answer any four questions :

(a)  What is the relation between truth and validity ?

(b)  What is a complex dilemma ? Give an example.

(c)  Are two propositions necessarily contradictory if one is true and
the other is false ? Justify the answer.

(d) Explain with example, the addition theorem of calculating
probability.

(e) Explain briefly the different senses of ‘or’ with appropriate
examples.

(f)  Explain with example the fell-swoop method of testing validity.

(g) What is a propositional function ? What are the ways of getting a
proposition from a propositional function ?

(h)  Explain, with example, the rule of Existential Instantiation.

Unit -1

2. (a) Translate the following sentences, into standard form categorical
propositions :
(i)  All men sometimes err.
(if) If a thing is scarce, then it is not cheap.
(iii) Not all is gold which glitters.
(iv) He who takes the sword shall perish by the sword.
(b) Why do the modern logicians not accept contrary opposition as
valid opposition ?
(c) What is complementary class ? What is the complementary class
of a complementary class ?

3. (a) Representin Boolean equations and Venn diagram :

(i)  There are many things which are not pleasant.

(if) Honest politicians exist.

(b) Test the validity of following arguments by means of Venn
diagrams (any two) :

(i) There are beautiful humans, but humans alone are vile;
therefore, it is never true that whatever is beautiful cannot be vile.

(i) In all valid syllogism the middle term must be distributed at
least in one premise. Therefore this syllogism is valid, since in this syllogism the
middle term is distributed at least in one premise.

(ili) No one present is out of work. No members are absent.
Therefore all members are employed.

(c) What is a null class ? What is the significance of null class in

Boolean interpretation of categorical propositions ?
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4. (a) What is the difference between mixed hypothetical and mixed

disjunctive syllogisms ? N .
: (b) Determine the forms and test the validity of the following

arguments : ) 1
(i)  If this syllogism does not commit the fallacy of affirming

the consequent, then it is valid. This syllogism is valid, since it does not commit
the fallacy of affirming the consequent. _
(i)  Either today is Monday or today is Tuesday. Today is
Tuesday. Therefore today is not Monday.
(¢) What is enthymeme ? Give an example of a third order
enthymeme ?

Unit -2

5. (a) What is an analogical argument ?
(b) Discuss the criteria used for the appraisal of analogical
arguments.

6. Write notes on (any two) :
(a) Different meanings of “cause’
(b)  Scientific and unscientific explanation
(¢)  Mill’s Joint method of agreement and difference.

7. Calculate the Probability :

(a) What is the probability of getting atmost one tail in three tosses
of a coin ?

(b)  Four men kept their respective umbrellas at the corner of a room
and sat together for a game of cards, When they started for their homes after the
game of cards was over, what is the probability that each of them would pick up
his own umbrella in the dark, given that they picked up umbrella one by one and
no two men picked up the same umbrelja 2

(¢) What is the probability of getting at least one non-ace in four
successive draws of card from a standard packet of cards if the card drawn once
is replaced before the next draw ?

(d) What is the probability of rolling three dice so that total number
of points that appears on their top faces is 3 ?

Unit -3
8. (a) Characterise the following statement forms by means of truth tables :
(i) p2q)or]=[(~q>~p)>r]
() ~[(p>9)>(~q>~p)] :
(b) Determine the validity of the following argument using the
method of resolution :
p2(42r)42(rshp2(429)
(¢) Determine the truth-value of the following by using the method
of resolution : [(p.q)v(pr)]>(q=r)
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(d) Explain the difference between truth-functional compound
statement and non-truth functional compound statement. 4

9. (a) Construct formal proof of validity (any two) : dx2
i QV(RS),(QO>T).(T>8)/..S
(i) If either Socrates is happily married or he was not happily
married, then he was a philosopher. Therefore Socrates was a philosopher.
(iii) (T>E)-(A>L)/..(TvA)>(EvL)
(b)  Test the invalidity by the method of assigning truth value : 4x2
(i) (A>B)-(CoD),AvC,(BvD)>(E-F),Eo(FoG),
Go(AoH) / . H
(i) If Julia is intelligent and studies deeply, then she will get
good grades, and pass her courses. If Julia Studies deeply, but lacks intelligence,
then her efforts will be appreciated; and if her efforts are appreciated, then she

will pass her courses. If Julia is intelligent, then she studies deeply. Therefore,
Julia will pass her courses.

Unit -4

10. (a) Symbolise the Sentences using quantifier individual variables etc. 2x4
(i)  Not any applicant was hired.
(ii) Hume is a philosopher, but he is not a rationalist.
(iii) Some books are not boring only if they are well written.
(iv) No car is safe unless it has good brakes.

(b)  Construct formal proof of validity (any two) : 4x2
1 CIx2Ix), @Ax)(Ix.~Ix), .~ (x)JIxDIx)
(i) Plato was a philosopher. Therefore everything is cither
perfect or not perfect.

(iii) (x}(Gx 2 Vx), (x)(Rx 2 0x), /.. (x)[(Gx.Rx)> (Vx.0x)]

I1. (a) Whatis normal form formula ? Give an example. 4
(b)  Find normal form equivalents to the following : 2x2
() ~&)[~(Sx.~Tx)]
(i)  ~(@x)(Hx v ~Mx)
(c)  Determine the invalidity by the method of assigning truth value :  4x2
(i)  (x)(Ax 2 Bx)
(3x)(Cx . Bx)
(3x)(Cx .~ Bx)
S (X)(Ax o Cx)

(ii) No employer who is either inconsiderate or tyrannical can
be successful. Some employers are inconsiderate. There are tyrannical
employers. Therefore no employer can be successful.
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